
Exnncrcr 1

Réduire les expressions suivantes

EXERCICE 2
Réduire les expressions suivantes

J;:

A:(x+j)-(x+5)-(x-7)
4= * pg *x-g -*+7
fr= -=u+5
B:-(a+4)+(a-5)+(3-a)
f5=-*-( t=c1--5 *3 *a-
g = *3o- -6

ç :*(x' - x) * (x - 1) - (l - x'))
z ,-+,1 _ 4+*jC=-Y*x-'x

C O
D : x2* (3x, _ 5xr) + (x, _ Bx2) - 2x2

§ = *L *3»2+ 5*r-Î'8x-L-z*j
D -€

L:é.
E : 9- (x2 + 3x1) - 9x + 7 + (-5x3 - 7f)

€ = 9 -*?-3*'-9r. +1 -5; --1:
Ç = -4?-;-+;*5*-+.4(t

F : 2f + 4- (6xr q xr)o (2x + 9x) - (3x- 9x)

( -- Z* , 4 +6' t* z' +Læ- 9'c - 3"<'+ 3'<-

Ç =Z*5t5';-4*-+1

A : ,lx'?-(3x * 2) + (7x')- 6)

h - 3* -3><-'rz +72-L-6

A = 4z;'-Z* '1
B =14 + jx - 2x)- (4x - x') - (x2 * x)

É =- 4- ix-+Z.xL ' 4-**-i+"'
9=Z*,'*6*-*4

ç :18x' + 7x)-(3 + 4x) - 9x + 1l

C - -t=t-?= -3 - Ç*'*9*+'(4
C = -42; *.lÇr. *8

D : -4x + 1c2 -(6 + 5x) ', 3y * (10 - 9xr) + 2x

D = * Ç *- +*?-(-S-lt3:'c"-lo+8i+2

§= 4*'*?(*'46
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